
𝑨 = (
3 2 −3

−3 −4 9
−1 −2 5

)

|𝑨 − 𝜆𝒙| = |
3 − 𝜆 2 −3

−3 −4 − 𝜆 9
−1 −2 5 − 𝜆

| = −𝑥3 + 4𝑥2 − 4𝑥 = −𝑥(𝑥 − 2)2

𝜆 = 0,2,2

𝜆 = 0

(
3 2 −3

−3 −4 9
−1 −2 5

) ~ (
1 0 1
0 1 −3
0 0 0

)  𝒙 = 𝑥3 (
−1
3
1

)

𝜆 = 2

(
1 2 −3

−3 −6 9
−1 −2 3

) ~ (
1 2 −3
0 0 0
0 0 0

)  𝒙 = 𝑥2 (
−2
1
0

) + 𝑥3 (
3
0
1

)

𝑷 = (
−1 3 −2
3 0 1
1 1 0

)

𝑷−𝟏 = (

1/2 1 −3/2
−1/2 −1 5/2
−3/2 −2 9/2

)

𝑩 = 𝑷−𝟏𝑨𝑷 = (

1/2 1 −3/2
−1/2 −1 5/2
−3/2 −2 9/2

) (
3 2 −3

−3 −4 9
−1 −2 5

) (
−1 −2 3
3 1 0
1 0 1

)

= (

1/2 1 −3/2
−1/2 −1 5/2
−3/2 −2 9/2

) (
0 6 −4
0 0 2
0 2 0

) = (
0 0 0
0 2 0
0 0 2

)


